
68Se Z = 34 N = 34 adopted link ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 576.439 ( 0.000) MeV

Qbeta+ = 4.705 ( 0.002) MeV

Energy T J+ J- J-other T1/2

-----------------------------------------------------------------------------------------------

68SE 1 | 0.000 0+ | | 1 35.5 S 7

68SE 2 | 0.854 2+ | | 2 2.8 PS 4

68SE 3 | | | 1.197 (2+) 3

68SE 4 | 1.594 2+ | | 4

68SE 5 | 1.942 4+ | | 5

S-alpha= 2.299 ( 0.004)----------------------------------------------------------------------

68SE 6 | | | 2.433 6

68SE 7 | 2.545 4+ | | 7

68SE 8 | | | 2.766 (6+) 8

68SE 9 | | | 3.073 9

68SE 10 | 3.304 6+ | | 10

----------- -----------------

68SE 11 | | | 3.571 (5-) 11

68SE 12 | 3.706 6+ | | 12

68SE 13 | | | 4.199 (7-) 13

68SE 14 | 4.752 8+ | | 14

68SE 15 | 4.871 8+ | | 15

S-p = 4.891 ( 0.001)----------------------------------------------------------------------

68SE 16 | 5.960 10+ | | 16

68SE 17 | 6.604 10+ | | 17

S-2p = 7.160 ( 0.002)----------------------------------------------------------------------

68SE 18 | 7.332 12+ | | 18

68SE 19 | 8.824 14+ | | 19

68SE 20 | 9.871 16+ | | 20

----------- -----------------

S-p = 4.891 ( 0.001)----------------------------------------------------------------------

S-n = 15.680 ( 0.067)----------------------------------------------------------------------

S-2p = 7.160 ( 0.002)----------------------------------------------------------------------

S-2n = 28.639 ( 0.198)----------------------------------------------------------------------

S-alpha= 2.299 ( 0.004)----------------------------------------------------------------------

S+p = 0.641 ( 0.042)

S+n = -10.317 ( 0.002)

S+2p = -1.481 ( 0.210)

S+2n = -23.883 ( 0.002)

S+alpha = -2.176 ( 0.008)

gap p = 5.532 ( 0.042)
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gap n = 5.364 ( 0.067)

gap 2p = 5.680 ( 0.210)

gap 2n = 4.756 ( 0.198)

gap alpha = 0.123 ( 0.009)
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